Mth 95 Graphing Every Which Way You Can
Name
	1)
(a)  Set your TI to the Standard Window.


(b)  Graph the quadratic. 
y = (-⅛)(x2 − 2x − 63)


(c)  Give both roots of the quadratic.


(d)  Give the vertex.


(e)  Graph the line y =  eq \f(2x − 12,3) 

(f)  Give the x-intercept.


(g)  Reset the window to show both intersections.  


(h)  Give both intersections.
	2)
(a)  Set your TI to the Standard Window.


(b)  Graph the cubic. 
y =  eq \f(x3 − 2x2 − 48x,12) 

(c)  Graph the quadratic 2x2 − 12x


(d)  Will there be an intersection in Quadrant I?



   Why/why not?


(e)  Reset the window to show 3 intersections.  


(f)  Give all intersections.


Solve the following equations by using the TI.  Give all solutions.

	3)
t3 = t2 − 6t
	4)
y3 − 3y2 + 4 = -2y + 4


	5)
Graph  (x − 3)2 + (y − 8)2 = 25 without using the TI

6)
Prove that circle (#5) passes through (0, 12) and (0, 4) by showing they solve the equation.

7)
Graph   (x − 8)2 + (y − 6)2 = 100 without using the TI

8)
Prove that circle (#7) passes through the origin and (0, 12) by showing they solve the equation.
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9)
There is another intersection near (-2, 7).  Show that (-2, 7) cannot be the intersection by showing that (-2, 7) does not solve both equations simultaneously.

10)
Solve equation (#5) and (#7) for y.
11)
Graph the circle on your TI and find the true intersection near (-2, 7) accurate to x.xxx.

12)
Graph y = x2 & circle (#7).  Both graphs pass through the origin.  Adjust the window to determine the number of intersections.  Find all other intersections accurate to x.xxx.
13)
Give the equation of the circle with center at (6, -7) and radius 5.

14)
Give the equation of the parabola with vertex (9, -5) that also passes through the origin.  Show your work.

15)
Give the equation of the parabola with roots at (-8, 0) and (10, 0) that also has y-intercept of 5.  Show your work.
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